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τ = P

(n −1)P
• − P0

(n −1)P0

•

LSD ∝ P
•
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Lγ ∝τ ch
α Lsd

β
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L = dErot

dt
= IΩΩ

•

IΩΩ
•

∝Ωn +1

dΩ
dt

= DΩn

Because of magnetic breaking

Differential Equation to be solved (D = all the constants)

Assume Luminosity is related to energy loss
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Ω(t) = Ω0

(1− DtΩ0
n +1(n −1))1/ n−1

L ∝ Ω0

(1− DtΩ0
n−1(n −1))1/ n−1
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n +1

Luminosity becomes

Solution to the differential equation
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L ∝γmec
2 N

•

γmec
2 N

•
∝ Ω0

(1− DtΩ0
n−1(n −1))1/ n−1
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n +1

N ∝ Ω0
n +1

γmec
2

dt
(1− DtΩ0

n−1(n −1))n +1/ n−1
t0

T

�

Gamma ray emissions from IC scattering

Total particles emitted over time

Combine the two equations
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L ∝ φ 2
•

c

B(t) ∝ 1
R(t)

φ
•

dt�
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